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Solve x)' P A .
b

Find the general solution of the differential equation.
y' =3y +2y=10sin(x)

Use the Laplace transform to solve the initial value problem.
y'+2y' +2y=6(1-4); y(0)=y(0)=0

Solve the partial differential problem.

- out  ou’

P +ay2 =0 (x>0,y<0),

u(x0)=0  (x>0),
' -5<5y<0

_ 0
M(O,y): { y<—7
2, =T7L2y<-5

Evaluate both sides of Stokes’s Theorem,

%CT)‘OdR‘=JISﬁQVx'ﬁdJ =

where ¥ =27 + yz?7 + xk and S is the plane with comers at

(1,0,0), (0,2,0), (0,0,1) as shown, and verify that the results
do agree. ' -




